Colorimetric transformation i =7
¢t =c* =ac* with a=0,00;b=1,00
rgb* —> cmyQ%;




th a=0,00;b= 1,00
&7

=c* =ac®w

cH

~
1
c
ie)
=
[
=
=
o
o
)]
c
©
=}
Q
=
Q
E
=
o
o
(@]




Colorimetric transformation i =7
¢t =c* =ac* with a=0,00;b=1,00
rghb —>cmy0} prgm rgb* —> cmy0?,

A3

0.7
05
0.7
0.0
1.0
0.7
1.0
0.0




=0,00;b=1,00
%
e7

th a

0 ww
Ruono oo
8668 -icoo

=c* =ac®w

cH

~
1
c
ie)
=
[
=
=
o
o
)]
c
©
=}
Q
=
Q
E
=
o
o
(@]




Colorimetric transformation i =7
=a c*® with a= 0,00;b = 1,00
—>cmy0 prmm rgb* —> cmyO},




=0,00;b=1,00
%
e7

th a

0. _w©_w
wilno Roilo
5668 S-ico

=c* =ac®w

cH

~
1
c
ie)
=
[
=
=
o
o
)]
c
©
=}
Q
=
Q
E
=
o
o
(@]




